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12.1 Recap

Energy Based Models Recall energy based models have the form:

Po(e) = B, 2, — [ expfo(w))aa

For sampling from this distribution, we could use:
Tip1 < Ty + MV, log Po(xy) + /2m1€

Note that for generation, just knowing the log probability is enough, this leads to the following two ap-
proaches:

1. Parameterize the log probability directly, and learn it. This leads to score matching.

2. Perturb the original distribution and estimate the gradient. This leads to diffusion models.

Note: although both methods throw away the energy and estimate the gradient instead, the original form of
energy based models is still useful and practical. Later, the professor will show how to connect EBM with
representation learning.

12.2 New Content

Today’s topic is to talk about latent variational auto-encoders and how it connects with diffusion models.

12.2.1 Latent Variable Model

An example latent variable model has the following form: xg ~ Py(x) is the distribution we are interested in.
And say we are given the following transitions |,y ~ N (z¢11 + 7:Sg(w4_1),0%1) =: P(x¢|zs_1). There’s
a trajectory and we can multiply the Markov chain to obtain P({z;}L ) = HZ‘T:1 P(zi|zi—1)P(x0). Note we
can only observe xp, and all the intermediate ¢ < T" we cannot observe. Thus we can only match 7. Note
we have
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PQ(J}T) = /]D(QTT7 (.2?07 N ,acT,l)d{x}ng

And using some distance measure D(P(z7)||P(x7)), matching this allows us to learn the Sy(-).

Next, let’s look at some examples of latent variable models. Each of the following has a latent variable z
and we can observe z which depends on z only. An graphical illustration is the following:

O—

12.2.2 Example I: Gaussian Mixture Model

In Gaussian Mixture Model (GMM), the latent variable z comes from a categorical distribution: z ~
Cat({p;}¥). If we use one hot representation z € 0,1%. The conditional distribution x|z ~ N (c.,o>I).
C € RP*F is a matrix recording the centers of the Gaussian, and c, € RP*! is a specific center. To fit a
GMM, we usually use the expectation maximization method (EM).

12.2.3 Example II: Variational Autoencoder

In variational autoencoder (VAE), specifically Gaussian VAE, the latent variable z ~ N(0,02I). The

it ‘stributs _fo(z)—=||®
conditional distribution p(z|z) o exp( ST )

12.2.4 Example III: Vector Quantized Variational Autoencoder

In vector quantized variational autoencoder (VQ-VAE), the latent variable z ~ Multi({p;}*_,). The condi-
_ fe(zx)—=|?

5or——). VQ-VAEs are often used as image tokenizers.

tional distribution p(z|z) o exp(

12.2.5 Training VAEs

Next we will derive a method to train VAEs. Recall that in a VAE we have observed variable  that depends

on the latent variable z.

p(@) = [ plal2)p(z)da
We only have observed data z: D = {x;}7_;. Let’s perform MLE:

KL(i(a)|pla)) x > log [ po(ailo)pl)dz = L(O)
i=1
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In the first try we can directly calculate the gradient with respect to 6. The following derivation focuses on
just one data-sample. The same idea applies when we have a dataset.

VoL (0) = J Veope(wi|2)p(2)dz
J po(wil2)p(2)dz
[ po(x4]2)Velog pg(xi|z)p(z)dz
a I po(zi|2)p(2)dz
By [p(z]2) Vo log po(z|2)]
- EP(Z)[pg(:L‘|Z)]
This estimation is not very good because of the high variance induced by taking the division between MC

estimations (the variance multiplies). Even though the two estimates are unbiased estimators, the division
result is not.

(integration is linear so we can pull in the gradient operator)

(log trick)

Another Approach

The maximum likelihood estimation (MLE) can be expressed as:

MLE: 10g/pa(z|z)p(z)dz — log/ q/\(zil;)f?(ez(fx;)p(z)dz

Using Jensen’s Inequality:

)] 5 g, fog P2

=log E,, 1|z
. “”[ o (2[) REE)

To make the values match as closely as possible, we can try to choose ¢)(z|x) that maximizes the above
expression:
p(2) }

r(z]z)

wax [ an(eio) [1ogp9<x|z> T log
gx(z|z)

Thus the original MLE objective after the introduction of the ¢, (z|z) becomes:

0 ax(z|z)

qu ((ZZL)]

After fixing a ¢)(z|z) we can then maximize with respect to §. With ¢(z|z) determined the gradient w.r.t.
0 becomes:

m;mxlog/pg(:dz)p(z)dz = max max Eg .|z {logpg(ﬂz) + log

VoS U8) = Eq, (z12) [Vo log pe(z]2)]

EM Algorithm

1. Update A to update gx(z|z) (E-step). 2. Update 6 to update 6 (M-step).

How to Get V,Q()\)

If ga(z|z) is Gaussian, we have a straightforward solution. In general, we need gradient updates to obtain
gx. The equation becomes:

Q) = Eq, z1a) log po(2]2)] + Egy (1) [qf((jﬂ}
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The gradient V) is given by:

p(2)
VAQN) = VaEy, (2o logpe(z|2)] + VAEy, (212) [log qwm}

First, we focus on the first component using the log trick:

VB, (z12) log pe(|2)] = V,\/logpg(x|z)q,\(z|x) =

/logpe(fﬂIZ)VA log gx (z]x)qr(2|z) = Eq, (212) [Valog gx(2]z) log pe(z]2)]

Note again the variance of this term is large because it is the product of two terms. Next we focus on the
second term:

Vs [ aGlaytog L
ax

/VA qx(z|7)) log 0z |z)dz—&-/q,\(zlx)V,\(qp((;)x))dz (product rule)

- / 42 (1) V2 (log g2 (2]2x)) log (< |) Ty / A(212) - ~V(ga(zl))dz

(log trick on the first term, property of log in the second term)

=Eq, (z]2) | Va(log gr(z|z)) log qf((zj)x) /V)\q/\ 2|z)dz (log trick on the second term)
=FEq4, (z]2) | Vallog ga(z]z)) log qf((;)x) -V /q)\ (z|x)dz (move gradient op outside of integration)
[ p(z) ]
=K Va(l 1 -0
ax(z|z) I A( quk(z|x)) og q)\(2|x)-

(gradient of constant—marginal distribution integrates to 1-is 0)

Combining the two parts together we obtain:

z
VAQA) = Eqg, (z12) [Valog ga(z]2) log po(z|2)] + By, (21 [Vx(log qx(2|r)) log qj’((zéz)

(el |Vallog qk(m))mgwﬁ}

=F

This generic derivation works on any ¢, using this gradient we can update A and maximize the objective.
However the log of the ratio is unstable and prevents good estimate of the gradient.

Another Approach
If g\ (z|x) is Gaussian:

o (z|z) = N(ha(z),0%I), z=hy(z)+e-0, e~N(01I)

We can apply the reparameterization trick:

QA) = Eq, (z]2) log pe(x|2) +log p(2)] — Eq, (z]2) [log gr(z]T)]
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This simplifies to:
E. [log pg(x|hr(x) + o€) + log p(ha(z) + o€)] — E. [log ga(ha(z) + o¢|x)]
The gradient w.r.t. A is:

VaQ(A\) = E, [Valogpe(z|hy(x) + o€) + Vylogp(ha(z) + g€)] — E, [Valog gr(ha(z) + o€|z)]

Note in this method, the ratio is gone and we can obtain are fairly good estimate. However, this method
has some drawbacks because it must be in the Gaussian form. It may not be applicable in discrete cases.

In the next lecture, we are going to see how to apply VAE to derive diffusion models.



